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irracionality RN, IR
golden ratio melt
whole number  B#X
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(“Foundation Mathematics for Computer Science: A Visual Approach (English Edition)”, John Vince,
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[iE]
modular arithmetic: & o 7 — 5
integer: B8¥K
remainder: £
natural number: B#R%
congruence: &[A]
congruent: &[ED
divisible: H| Y i 2
product:

multiplicative inverse: %}

G45)
(1) THERAFRL 2 v,
(2) [3] DUNEE o 75 X 1o,
(3) ROREFFHELEI W,
(i) ~13 (mod 7)
(ii) —6 (mod 9)
(4) (257 x 334) (mod 6)Ic2WV T, LT D DEER Fd 75 F 1,

7. 257 (mod6) =[] £7 334 (mod6) = [ TH 3, LissoT,

(257 x 334) (mod 6)I%. ([#]x[#]) (mod 6) =[E] <5 5.
Bk b, (257 % 334)(mod 6) =[] TH 3,
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5) KoXAGHLZI v, BEFERINTVIEERZOEBETLEI W,

(i) S (mod 7)

(ii) 2 (mod 6)
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(10 + 7)(mod 12) = 17 (med 12) =5
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